
Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Fingers

T:\04 Marina\M-0605.idw
06.09.2006
1  of 4 Side no.:

Assembly of floats

D
oc

. n
o.

: 2
02

0-
20

-1
03

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

Finger
Assembly of floats
at mooring finger.



Spanner for: M12 Club 

Single mooring fingers
Article Item no. 1 Item no. 2 Item no. 3 Item no. 4

500324C 
4,15 m 1 x Float 80 l 2 x DIN 603 VZ 

M12 x 150
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

500325C 
5,15 m 1 x Float 80 l 2 x DIN 603 VZ 

M12 x 150
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

500326C 
6,15 m 1 x Float 80 l 2 x DIN 603 VZ 

M12 x 150
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

Double mooring fingers
Article Item no. 1 Item no. 2 Item no. 3 Item no. 4

500666C 
6,15 m 1 x Float 140 l 2 x DIN 603 VZ 

M12 x 180
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

500676C 
7,15 m 1 x Float 140 l 2 x DIN 603 VZ 

M12 x 180
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

500686C 
8,15 m 1 x Float 140 l 2 x DIN 603 VZ 

M12 x 180
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

500696C 
10,15 m 1 x Float 190 l 2 x DIN 603 VZ 

M12 x 210
2 x DIN 934 8.8 VZ 

M12
2 x DIN 436 VZ Square 

Washer 12mm

Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Fingers

T:\04 Marina\M-0605.idw
06.09.2006
2  of 4 Side no.:

Assembly of floats

D
oc

. n
o.

: 2
02

0-
20

-1
03

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

A

Item 1
Float

Item 2
Locking bolt

Item 3
Hex. nut

Item 4
Square Washer

B

PARTS

Necessary equipment:

Prestressing factor:
M12 = 87 Nm
 
NB! 
- Do not tighten until defomation of any steel or 
plastic parts.
 - Do not put the steel construction directly at the 
ground to prevent damage at the surface.

Item 5
End plug



End float at double mooring finger 

End float at single mooring finger 

 

 

Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Fingers

T:\04 Marina\M-0605.idw
06.09.2006
3  of 4 Side no.:

Assembly of floats

D
oc

. n
o.

: 2
02

0-
20

-1
03

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

A End float

1

2

4

3

1

2
3

4

5



Extra float at double mooring finger 

Extra float at single mooring finger 

Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Fingers

T:\04 Marina\M-0605.idw
06.09.2006
4  of 4 Side no.:

Assembly of floats

D
oc

. n
o.

: 2
02

0-
20

-1
03

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

B Extra float

1

2

4

3

2

4

5
6


